
Economics 3250 Dr. Lozada
Spring 2015 Final Exam

This exam has 50 points. There are ten questions on
the exam, each worth 5 points.

Put your answers to the exam in a blue book or on
blank sheets of paper.

Answer the questions using as much precision and de-
tail as the time allows. Correct answers which are unsup-
ported by explanations will not be awarded points.



Answer all of the following ten questions.

1. [5 points]

(a) What is the scientific mechanism by which carbon dioxide
and other “greenhouse gases” increase the average temper-
ature of the Earth?

(b) Suppose global emissions of “greenhouse gases” remained
constant at their current levels forever. Would this solve
the problem of global climate change? Why or why not?

2. [5 points] Describe the general economic consequences that
have occurred as a consequence of trying to combat the thinning
of the ozone layer. Have those economic consequences been
mild or severe? Are they likely to be mild or severe in the
future?

3. [5 points] One of the economic benefits of biodiversity is
“existence value.” Name two other economic benefits of biodi-
versity (and explain your answer).

4. [5 points] Suppose you were trying to figure out the socially-
optimal sulfur dioxide emissions from China. What specific
damages would you take into account? Would the dollar amount
of these damages per ton of emissions be the same as for sulfur
dioxide emissions from the USA? Explain.

5. [5 points] Explain Kenneth Boulding’s “Spaceship Earth”
analogy, and state its policy implications.

6. [5 points] Suppose a graph of “births minus natural deaths”
versus population size “x” for a fishery looks like this: it is zero
at x = 0; it is zero at x = K where K stands for the “carrying
capacity”; it is positive between x = 0 and x = K ; and it is
negative for x > K .

(a) Sketch the graph of steady-state total revenue versus fish-
ing effort.

(b) Sketch a graph of total cost versus fishing effort.
(c) Where is the open-access equilibrium? Why?
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7. [5 points] Define and give an example of:

(a) emissions charges;
(b) user charges;
(c) product charges; and
(d) deposit-refund systems.

8. [5 points]

(a) Describe a situation in which economists worry that people
will overstate “willingness to pay“ (“WTP”).

(b) Describe a situation in which economists worry that people
will understate WTP.

(c) Why might such overstating of WTP or understating of
WTP occur less frequently than economists expect?

9. [5 points] Use Figure 1 (which is on the next page) to prove
an important point about the difference between pollution taxes
and pollution standards.

10. [5 points] How might the distinction between “reserves” and
“resources” be viewed differently by Malthusians versus what
the textbook calls “Ricardians”?
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